41

254 NN

14731 N'YPYPN NINTI
INY MM nnn n'nw - NI INNYY A1 V0

MRS DA NN 018 D20 N NY IMRY
XPOD S mubnna uo any o ATy
nmpon »onY 1Ry 732 awnnny nen
JINR AN mann

72WN N1 IR MNATI PO vinw ol
npNa) YIan NN oarKRa YR NRon
MNYY 73 .11a0 R Mon% Y RT (TYnn
PCN T SR 1250 ORI APRY SV nmayy
nMIoINa J797vMP NNOMNa VNN MM
T LornMm MDY M MY wan
m»T1 nY%on mpnn nnwn ovapn
53 v axnY% oRNNa nwn N2wnin . myni
.nan

nat Y PNPRA DM NROIRD XD
STYXIMnT nany

prA

naT2 NITMYM Mawnn m,yan nnn
nRoXYMm M Phn ephon” R abnn
nann NNY YR R NN NAnn mIan
I mnn xpbvy . maon .a1an
PLY PN MY MM AP APNB  MaynanR
,0»9173 MmN Ya L nonY M RS 9
k)]

19K ,R0 XY NIR YN JNaIw AYRWN
AaToan oy vnnY oxy:) MonY mia
MY3Y0 Mhan nMIno (N

PINRTNEAN MNT WY Mnala ord
N MY 73 ,0vTRYN oMmnm uY opavnn
2w T LRPYDR RPN musnna
p'oa Sy mMMa mmwnn ITYa 1ap oI
OoR .O0"MNR DTYY B TV O IMINA Anw
1M Y3 TYnan whean - n'nn Yy 5onm

.11.94 71NN (07220 1Y 1A NAYNN) NAINNNIA NN (RPN NIR NMPI? 3wnn

mnn

VY 10,000 = NaYY nyvn (n'nn) aSn nann .1

VY 100 = Y'Y nyxmn non navin .2

1212 NaNN 2PY 178 NaSnn) XN MY SY NyXImMn NN Navin v noiow a1oany .3

AP o nnn YYNRa

.85% = 173 naunY NN 5w (n7nan) 35nn nann one
Y = NPIo) NN Yapniw maynnn 1aon

.N”W 2,300 = NAYNNNY n7a Nay naab rnn

4
.5
.N7W 4,300 = (NN N2) NN mby .6
7
8

N7W 1,050 = Mava vy may rnn .
7w 1.03 = 35N avvh s nmnn .99

.N”W 5,000 = MYY MYn n1a% nmamsSy .10

7Y 1,450 = AMON M2 (W) D apimn mYy .11
2"Mp 0.5 = (@rpv Yyn) qon a%n 1wy mn nma .12

7R 0.6 = MIAaNm M MYy .13
.5% = SR My . L14

.N”W 7,000 = YN N1aY "mipn”a nypwn 15

MY 2072 mipn May paamn .16



asnm Iyan pen

42

(25NN Mx» NR 192N NDIND TWRD) MIAN 1ADNa MY 1Y% 1N

Y ”nn nnd n2PNN N'WNIY
—2,000 nasnn moy
‘N Y

575 a%n navin

124 2,300 0.054 778 nYon
347 6,450 0.054 (W IN+NM) 1TV MuPn

30 562 0.054 0v1ana Noon

-31 1,050 0.030 oYPNnY Non Toan
-172 0.6 287 N navin
298 11 NavIN
amy

2,176 a%n navin

345 2,300 0.150 78 non
1,315 6,450 0.204 (WN+N1) 1TV MYPn
114 562 0.204 01373 Noon
-118 1,050 0.112 PN NN T0an
—653 0.6 1,088 M navin
1,004 11 NavIin
i

2,176 a%n navin

1,315 6,450 0.204 (wn+m) 1Ty mopn
114 562 0.204 0Mana Naon
-118 1,050 0.112 o' NPonN TUan
—653 0.6 1,088 N navin
662 13 Namin
S omn

0 1 2 3 my
—2,000 298 1,004 662 my 11
—-2,000 284 910 572 man my 7
-1,716 —806 —234 7avXN 7Y
—0.8% °.a.n.w

8,273 NPRY naun

1,727 TV Y¥IAINn waan

—2,254 MIa0 YXINHN wIan

{Mmpan N0 R5S) qom

n79% nanna YYyn nbyinn nay nay A
(Mpon ) 17Yn ST mvpna nnn
N ANWRIN AYpYNn onawnnn wa

SYPYNN Y 2vnn ,nmna aRiwn Y = anwe

NaMNMY 778 Na%Nn RT3 NN 7172 NYd
my v 90 naia n’nn Yy 8,500

NMIVANR

a5n 7YY 555 AR NN nYapnw noea N



43

254 nhan

PR a¥nn NN ‘2 dYNnY Mo wn
2wnnY pn»nnd RTD 27T MNatn 131
R qIva M mRawn NNk 2
mna aYn namn) ‘KR wnn vab oavnny
MM IRD U3 Wnn mpna (Tmonavin
AN MY mmnn 'av vapd orm 2wnn
oy ,AnY a¥nh naa 903w Moty oavn
a10an MYy ,onan Lnann) iy mnn
AU ,wan mby  NRYY 712 MmN Nl
55 13RS MAIYAR NP NYY NNN1A .0
Ral>'Spiinlab iy

7790 Yw MmNy manns myn npa

namnn

(%) .8.n.»  73v¥n T nabnind abn nann
24.5 796 7500
18.2 539 7750
11.9 281 8000
5.6 23 8250
-0.8 —234 8500
-7.4 —492 8750
o13'v

NPRTI MY 77T URIN NRT MNTIaYA
NaNoW NVIYA NMON XN .NAa1a 1Rpoun
nasnn N1RTY N2wnn Nonn amunpa
JArmn IR) NomM1 35N naun apy nat2 Ma
2WNR MONM ,DPMmPpn oMM pnRong inm
NPRA N7 DR ,N1A0 Nasnn NPNRTD NN
qUNA (N872 N1 qoNnY RT3 KA Naunn)
MY NYPI DYANN .MYNT MYl Nyyan
nb2n PRAa 250 Sw KR5n nn A% 0T
.NPan nYan o» ,Nuan

Sw naty oMY AT o) INRD XN
.118% YXIAN3 2%n WYY 10,000

2,000 ,M190 Non MnNa NM2ann nn
Y

5p a%nn Napin NR MM 'R 2'wnna
NRYPA 7195 ARNYNA NDIN 772NN
AT A%M AX»Y 1T PN navin MYy mna
naw) ouy wYy Jena mpoy mnmna
2o"apa nPw 1,213 unnan (han mavnn
VY 9,110 = 'R 2wnNnY NNNN NNg
17NN RN WYY 890 OY N4 123 M)
WRTDY .ONS IORTDY NATN YN wIan
TP IINAN MIAn NMmYY waannw  matb
AV 1,416 AN Y

IR OYY , 0NN AN MY 23NN ‘2 PWNna
AMY3 ,2501 MmNy AMR M YPYD Ova
oY N7a nabnn .a5n npon Y nSan nany
TN 9T NR PPN WY N AN
A Mna By npon amR Nk Y,
,350 napinn MM RS ‘3 'wnna . .mom
2TYR MYPNNR NM Yar PR D
TN ,a%n navin apy n1an ponil nYon o

JTYn Mvpn
7V (VM) DMWY DM na Nopn O

Arony My mYmv mna
("2 ,pmnn mma ,Mma5p) Mani ndon o

.N290 MVPAN ARXIND

AN 59 1TYn oYY non Toa)

Nan (@YY 1ayn) Nm mMRNMN Toa

.51 AN NINYN NP Many

*ab R ,25n nann 'A% yapy natn Y
25N a2 NIRn N%Y RNONN .ATAN Naun
nyxmn a%n nann pnon% mn nmany
25N nann TYS NPYImn nnn nam o
nyMINN n”nnh naum AR 773% nyxnn
nanny umn Ndw nnnTa NRYY a1ab
JIRYMA 7792 B 71TYa o) R7nnY mw avnn

vdY qwna NnpSw mmna 3 wnna
n’Y 234 NP0 (7120 MYnn nuy) ow
N % MINTI ANt RS aabnnm o npa
IRTI MY A5 8,273 = '3 1WNNY NIRN
1PN nAnN 7P 1,727 By a1 pvnnd
nMan NMmyS wIann) natn ynnn viand
.37 2,254 — 7TYa mManan



